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75 e R BRI

ERIRASE RS
2021 &2 H
JE® AE
28 HERRE® S EE R
(kg/hr) (kg/hr) (kg/hr) (=)
(a) [FREEH — /NP E(HEFEREGE AR ER)
fokr @ 2277 0.012 - 0.043 0.022 &
HH 1 1.512 0.036 - 0.701 0.109 =
F/LFE (HC)) 4.545 0.090 - 0.238 0.185 =
FbE (HF) 0.306 0.018 - 0.069 0.038 =
— &L (SO2) 15.147 0.150 - 2.862 2.157 s
—& kiR (CO) 7.578 0.000 - 0.071 0.030 =
HEEY (NOx)
DIZEZ/EE (NO2) 30.303 1.106 - 9.194 3.020 s
i
(b) FFEEH - HISE (HFEHENAKER)
fokr @ 0.756 0.019 - 0.026 0.022 &
LA 1 0.756 0.062 - 0.144 0.109 =
F/LFE (HC) 0.756 0.169 - 0.200 0.185 =
FIbE (HF) 0.072 0.026 - 0.047 0.038 =
—SAEHE (SO2) 3.789 1.847 - 2.398 2.157 =
—& kiR (CO) 3.789 0.009 - 0.044 0.030 =
EEAY) (NOx)
DL E/EE (NO2) 15.147 1.943 - 3.629 3.018 pss
EHE
S8 HERPRE® BLR4E R R
(kg/hr) (kg/hr) (B/R)
(c) FHEM (HRFMEBFTEE)
7K 0.003789 <0.0003 s
% S e AR = 0.003789 <0.0011 e
BB ED 0.0378 <0.0050 &
IR R e ) 7.575 x 107 <5.482 x 1071 o




75 e R BRI

VB SRS R s
2021 &2 H
JE® AF
28 HERRE® S EE R
(kg/hr) (kg/hr) (kg/hr) (B/R)
(a) [FREEH — /NP E(HEFEREGE AR ER)
fokr @ 2277 0.003 - 0.014 0.006 &
HH 1 1.512 0.000 - 0.509 0.085 =
F/LFE (HC)) 4.545 0.002 - 0.204 0.131 =
FbE (HF) 0.306 0.000 - 0.057 0.028 =
— &L (SO2) 15.147 0.014 - 4.395 2.096 s
—& kiR (CO) 7.578 0.006 - 0.149 0.079 =
HEEY (NOx)
DIZEZ/EE (NO2) 30.303 0.937 - 10.683 1.915 s
i
(b) FFEEH - HISE (HFEHENAKER)
ok 0.756 0.005 - 0.007 0.006 &
LA 1 0.756 0.009 - 0.138 0.085 =
F/LFE (HC) 0.756 0.088 - 0.175 0.131 =
FIbE (HF) 0.072 0.015 - 0.044 0.028 =
—A/EWT (SO2) 3.789 1.768 - 2.324 2.096 =
—& kiR (CO) 3.789 0.046 - 0.108 0.079 =
EEAY) (NOx)
DL E/EE (NO2) 15.147 1.127 - 3.036 1.921 =
EHE
S8 HERPRE® BLR4E R R
(kg/hr) (kg/hr) (B/R)
(c) FHEM (HRFMEBFTEE)
7K 0.003789 <0.0003 s
% S e AR = 0.003789 <0.0012 e
BB ED 0.0378 <0.0056 &
IR R e ) 7.575 x 107 <6.344 x 107 o




75 e R BRI

VB SRS R s
2021 &2 H
JE® BE
28 HERRE® S EE R
(kg/hr) (kg/hr) (kg/hr) (B/R)
(a) [FREEH — /NP E(HEFEREGE AR ER)
fokr @ 2277 0.001 - 0.021 0.002 &
HH 1 1.512 0.014 - 0.840 0.117 =
F/LFE (HC)) 4.545 0.025 - 0.390 0.155 =
FbE (HF) 0.306 0.002 - 0.058 0.030 =
— &L (SO2) 15.147 0.221 - 2.402 1.783 s
—& kiR (CO) 7.578 0.005 - 0.229 0.097 =
HEEY (NOx)
DIZEZ/EE (NO2) 30.303 0.699 - 4.939 1.324 s
i
(b) FFEEH - HISE (HFEHENAKER)
fokr @ 0.756 0.002 - 0.004 0.002 &
LA 1 0.756 0.045 - 0.244 0.117 =
F/LFE (HC) 0.756 0.083 - 0.271 0.155 =
FIbE (HF) 0.072 0.017 - 0.039 0.030 =
—SAEHE (SO2) 3.789 1.257-1.912 1.783 =
—& kiR (CO) 3.789 0.057 - 0.142 0.098 =
EEAY) (NOx)
DL E/EE (NO2) 15.147 0.873 - 1.998 1.324 =
EHE
S8 HERPRE® BLR4E R R
(kg/hr) (kg/hr) (B/R)
(c) FHEM (HRFMEBFTEE)
7K 0.003789 <0.0003 s
% S e AR = 0.003789 <0.0012 e
BB ED 0.0378 <0.0055 &
IR R e ) 7.575 x 107 <6.228 x 107 o




75 e R BRI

VB SRS R s
2021 &2 H
JE® BF
28 HERRE® S EE R
(kg/hr) (kg/hr) (kg/hr) (B/R)
(a) [FREEH — /NP E(HEFEREGE AR ER)
fokr @ 2277 0.003 - 0.011 0.005 &
HH 1 1.512 0.015-0.619 0.104 =
F/LFE (HC)) 4.545 0.026 - 0.477 0.131 =
FbE (HF) 0.306 0.010 - 0.061 0.032 =
— &L (SO2) 15.147 0.000 - 5.590 1.515 s
—& kiR (CO) 7.578 0.003 - 0.165 0.038 =
HEEY (NOx)
DIZEZ/EE (NO2) 30.303 0.424 - 8.257 1.211 s
i
(b) FFEEH - HISE (HFEHENAKER)
fokr @ 0.756 0.004 - 0.006 0.005 &
LA 1 0.756 0.034 - 0.200 0.104 =
F/LFE (HC) 0.756 0.107 - 0.156 0.131 =
FIbE (HF) 0.072 0.022 - 0.036 0.032 =
—SAEHE (SO2) 3.789 1.147 - 1.760 1.515 =
—& kiR (CO) 3.789 0.018 - 0.078 0.038 =
EEAY) (NOx)
DL E/EE (NO2) 15.147 0.599 - 2.018 1.215 =
EHE
S8 HERPRE® BLR4E R R
(kg/hr) (kg/hr) (B/R)
(c) FHEM (HRFMEBFTEE)
7K 0.003789 <0.0003 s
% S e AR = 0.003789 <0.0012 e
BB ED 0.0378 <0.0052 &
IR R e ) 7.575 x 107 <5.742 x 1071 o
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